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Topic:- Child Development & Pedagogy (CDP)

1) Which intelligence do navigators and sculptors have? {ﬁ?ﬂﬁ ¥ fod uyorR Ft ‘g’@'ﬂﬁ ﬁ?ﬁ %’-’
1. Naturalist/ ﬂm

2. Spatial/ 1D

3. Interpersonal/ NIGEDIEREY

4. Bodily-kinesthetic/ IRINGTdw (@ISal-DHRACH)

Correct Answer :-

« Spatial/ B IS

2) is the method that studies growth by observing and measuring the same individual for a variable period, during his/her growth /
7 faf¥r g for fft afdr &1 3uat 3f3 & <RM, o uftade=ita srafy & fore wum= aafdy &1 Heror ok ATa e
TU Sieaa fomaT ST 81

1. Mixed Method/ T3 fafer

2. Longitudinal Growth/ 3fc®] f

3. Cross Sectional Growth/ Sl ﬁﬂﬁﬂq faer
4. Extended Method/ fa¥&diR fafdr

Correct Answer :-

« Longitudinal Growth/ G@Qﬁq@

3) Success is most crucial in school performance because it helps the child / faemera & yexia ﬁ, Jhadl 999 ﬂ?ﬁ'{uf % e m T
P = ¥ mee et 8:

1. show his knowledge over other students / 3= BE & gAY 3G IE BT LTC{'QT:I

2. passing the examination / TRIET IR Al

3. winning Prize / RIDR St

4. feel more Confident about learning / ST & ey H 3w Wﬁm Heqd Bl

Correct Answer :-

« feel more Confident about learning / SIIYTTH & TdY H ¥ EfdyN Tggy H=A1

4) Infants at an early stage are highly . /IR ST # ﬁT‘{[ il - '@%%l
1. Extravert / a%ji'@ﬁ

2. Unselfish / e

3. Egocentric / wohfsd

4. Altruistic / TRIGHRI

Correct Answer :-

« Egocentric / W®Hi5d

5) Conventionally, how many types of needs are explained in Maslow’s theory? / TRURS &Y '*ﬁ', el F Rigia ® fraq R 3t
Taa@areit ot afvfd forar ma g2

1.2
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2.6

3.5

4.3

Correct Answer :-

« 5

6) An extrovert child would:/ T E’%ﬁ@ g&I BT 'bﬁTIT:

1. Tend to think things through inside your head./ 3G Sfidies At 9 feidd a%uqa Yl
2. rather just observe./ e R MR

3. Think more and talk less./3if% fiia SR STadid HH B2

4, Like to be in a fast-paced environment./?ﬁa a0l § Xg1 T d|

Correct Answer :-

« Like to be in a fast-paced environment./?‘ﬁa rarao] § EGR IR 2y

7) The term personality has been derived from / ‘FfRI (‘Jﬂqﬁ?ﬁ) Q]E,"“\Q forg 9 foram %z
1. None of the above /Gtrtjaﬁ b @fﬁﬁ?@

2. Greek/?fﬂ:ﬁ
3. Latin / Qe

4. German / STHT

Correct Answer :-

« Latin / Qe

8) The as_s%essment results from personality based projective tests are ./ SafeRTea menia Glﬂ'q'F'ﬁ uﬁmﬁ%q@m% Ry
|

1. Foolproof/ TR<l
2. Controversial/ [daTGRAG

3. Futile / o0

4. Objective / aﬁﬁg
Correct Answer :-

+ Controversial/ fdarerUe

9) The child worries almost everyday about getting hurt. This is because of ./ 9= B 9 WA & IR F T ufafe fiar gt %I
THBT PRI 8l

1. Autism / ESKIEGI (Gﬁﬁ\_ﬂ)

2. Attention Deficit Hyperactivity Disorder / &ITHIHIG Ud Sy [ddR
3. Anxiety Disorder / Farfaer

4. Learning Disability / 31T Sf&fedr

Correct Answer :-

« Anxiety Disorder / fHidl fdpR

10) Which of the following is not an individual difference likely to affect learning? / FIRTRITET & & B W1 TP AR 3R TE & &
THTad: SHRATH FT qUIfad HT FPar g2

1. Body mass /R IR gomE

2. Intelligence / m

3. Experience / 3{JHd
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4. Motivation / 3{fHUROT

Correct Answer :-

. Bodymass/Q'\f:{m:[

11) Which of the following is a personality test created by Cattell? / fafafaada DI AT hed gRT daR forar n wafdaa Tﬁi&ﬂﬂ %?
1. Sentence Completion Test / dTd] E[UTT‘IT TRlEmr

2. NEO-FFI / TI53-THUH 3T

3. Sixteen Personality Factors Questionnaire / Ticle AT HRE THTaat (ﬁﬁ;ﬁﬂ:{ RIS e aaWUTCR')

4. Locus of Control / 701 &1 fGehTT (T d 31Tt Selen)

Correct Answer :-

« Sixteen Personality Factors Questionnaire / Ticre AT HRE THEat (ﬁﬁi"l’aﬁ TR e Ga'ﬁﬁ:ﬁtﬁ)

12) In an aptitude test, any estimate of a person’s future possibilities of accomplishment is 4 /Wmﬁ&ﬂ ﬁ, feftafda®
yfawy o1 SuafRrl $t JuTa-rsit &1 ol ot ergaE H|

1. a probability/ T GHTGT
2. a certainty/ T [GIEGGI
3. a question/ TdH YUY

4. an assumption/ T YR

Correct Answer :-

« a probability/ T JHTGT

13) Moving from examples to generalization is: / ISTEI I AHIBIT Bt 3R m%
1. Correlation / Tg-I§e

2. Inductive / SIFTHATHD

3. Incidental / 3THIED

4. Deductive / e

Correct Answer :-

« Inductive / 3{FTHATHSD

14) Bandura believed in Reciprocal Determinism. This means that: /EETI' Wﬁ'ﬂﬁ?{ﬁﬁm wHd A1 DT Gﬁf%:
1. The environment and one’s behaviour cause each other. / TRARI S?IT o dgR W—W F PR T %I

2. One’s environment causes one’s behaviour. / fTl &1 Uﬂ%ﬂ, fedt s W% DIRUT T %I

3. One’s environment remains unaffected by one’s behaviour. / fedt s HdgiR ¥ fpadt w1 ufkdwr smvifaa Xgdl %I

4. One’s behaviour is independent of one’s environment. / et o1 AR, ot & gfiaw ¥ W %I

Correct Answer :-

« The environment and one’s behaviour cause each other. / TRARI 3R {5l &1 dgR W-gﬂi P BT ST %I

15) Memory is measured by the method of / Fiﬁf Y o fafer & wrar siwar %:

1. Reproduction (recall) / §1ocdG (RpId AT UG DA
2. Interview / HI&TPR
3. Observation / 3{@@l®T

4. Experimentation / T

Correct Answer :-

« Reproduction (recall) / GSeIGH (Reb Il A TG BT
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16) What is the term used to describe the negative attitudes that people have towards an individual based on their sex? / TRRTHD GRcal

BT quiq A F T 5y U o1 ST foba i 2, RO ahr 31 o1 & ener wR fosedt aafda & forg v &2
1. Patriarchy / T

2. Gender roles / STTATT YfAHTE

3. Sexism / TG

4. Socialization / FHTGHHRUI

Correct Answer :-

« Sexism / fdTdg

17) What is the term that Piaget used to describe imitation carried out with parts of the body that one cannot see? / 9§ Xeg HIT % T

SUERT Tt 3 IR & 3 it & A1 7 T 31 avie B & R 3, R 1 S T awar 82
1. Invisible imitation / 3{€RY bl

2. Spatial imitation / RfE THd

3. Visible imitation / GRIIT el

4. Model imitation / HiSd T

Correct Answer :-

« Invisible imitation / 3R dH A

18) One’s heredity is determined at the timeof ____ ./ i =t ﬂﬁaﬁm_ﬂ?mwﬁﬂfhaaﬂm?ﬁ%l
1. Maturity / GRG&dl

2. Conception / MafeRor

3. Growth /ﬁm

4, Birth / 91 H

Correct Answer :-

« Conception / maferRor

19) Counselling involves __ / TRl | m A g gl

1. consultation and interchange of opinions between counsellor and the individual / w&{m th al% 37 aﬁ[ ﬁ%ﬂ—\ﬁ Pl AHlaH-UglH GﬁT Wmf
2. advice from counsellor to the individual only / Had fad BT tmtrzfa?n g qdig T

3. problem sharing by the individual with the counselor only / Hde TRIRIGTAT & 1Y AT GRT TH AT BT

4. schools identifying issues with children with needs / SRERd dTe] §<di & 1Y 'El,_?ﬁ D1 UG A il fagmed

Correct Answer :-

« consultation and interchange of opinions between counsellor and the individual / wRERferar 3R wfad & ot faar! &1 SHigH-UgH 3R WA

20) Vocational training to persons with locomotor disability is more related to domain. / SeIHeR feaaivmar 9 safeaal &1
afremr S 9 sifie wdftm g

1. cognitive / IS

2. none of these / 370 ¥ ﬁ% BG
3. affective / THTA!

4, psychomotor / HIHIHeR

Correct Answer :-

 psychomotor / FIgHIHeR

21) Social learning theory was proposed by: / TTHITTE SHERTH Rigia 371 gRT wRatfad fdar war 4m:
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1. Freud / TPIIS

2. Bandura / Sg]

3. Skinner / AR
4. Pavlov / UTadId

Correct Answer :-

« Bandura / SGX1

22) Socially immature students are known as students. / ATTT® U T SURYS BHE] B mﬁ%wﬁmmél
1. Dependent / MR

2. Alienated / S{CTT-Y<TT

3. Phantom / 3THR!

4. Social / FTHIH

Correct Answer :-

« Dependent/ R

23) Social knowledge is obtained through __ from other people. / 3= AR & 1w § QT 31w o e g1
1. Feedback / Afaildha (qﬁeém)

2. Discouragement / E?ﬁf\‘:ﬂ—@':[

3. Encouragement / En?\‘ﬂﬂ:f

4, Logic / GE (?Iﬁ—cﬁ)

Correct Answer :-

« Feedback / Ufalehl (tﬁaé@

24) According to Gardner, spiritual intelligence is / MER F SIYR, sreTfoies difgearn %:
1. the ability to perform transformations on one’s initial perceptions / fdil @1 TR YRoMSf TRad B DI &

2. the ability to contemplate big questions about the meaning of life / Siid & I & Gaiy T wifc e Trerell UR fagR & &1 &l
3. the ability to make distinctions in the natural world / m g 1 7 faG 6 B &
4. the knowledge of one’s own strengths, weaknesses, desires and intelligence / 3T Waﬁ‘zrl%km‘r, mﬁﬂf{@f, 3@7@[ 3R Tg’@ﬂ?ﬂﬁﬂﬁ

Correct Answer :-

« the ability to contemplate big questions about the meaning of life / S & e & ey T Sica THms] R 3R &= @ e

25) Formative assessment is: / WW%
1. A process that does not involve value judgement /Wm orTH 3mexf 4o (é?lﬁ\_rlfﬁ) ‘x’ﬂmﬂ:ﬁﬁ%l

2. Performed by evaluating student learning by comparing with a benchmark / HIcqUs F Y dadT e &8 W%WWWW
ST

3. Used for rating the learner through high-point valuation / 3@-®ifc edid- & Aeqd § Rienlf (ak) @t dvaar Rufka o= & o o fosar s
gl

4, Less beneficial for the teacher as it does not help to know the weaknesses and strengths of a learner /ﬁl% %ﬁﬂl e WW%W% fQT&ﬂﬁff
(@R) & 707 3R I BT S H 7eg g a3 |

Correct Answer :-

« A process that does not involve value judgement / TS Ufchar forgH 37exf gRon (3?1\_:1@?:) BB T‘I_E’P[%I

26) The role of the teacher in a progressive education is that of a / Y rforeite fQT&‘ITﬁ' ﬁT&‘lﬂ’Taﬂ'W 1@3"[ %:

1. Disciplinarian / 3{RTHPH
2. Instructor / WiRT&/
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3. Guide / HII[GR[D
4. Lesson planner / UT& GSHIDHR

Correct Answer :-

+ Guide / AMfax(®

27) According to research, peer-assessment is valuable because / MY S SRR, W-WW%W
1. it encourages competition among the students /%@ﬁ%@auﬁwﬁﬁu‘mﬁam%l

2. pupils may accept feedback from one another on their work /9T 309 ST R TH @3\" 3 UfAfshar U & Tl %I
3. students know their rank in the class /?5[3[$&ﬂﬁ MWW%I

4. it reduces workload for teachers to assess the students / I8 BIEIKH W 3 T%'IQ et & Eap @31 DI HH Bl %I

Correct Answer :-

« pupils may accept feedback from one another on their work / S 30 HH R TH gai I yfafar o »2 94 &

28) According to Fabiano, Pelham, Manos, Gnagy et al. (2004) an effective means of reducing disruptive behaviors including aggressiveness,
destruction of properties and non-compliance in the classroom is?

/ ST, YaeH, 7N, 19 TE 3id (2004) F IR, FETH STHTHEGT, JUILHT B7 fam=r 3R IR-srgurer afed [geaert
TIAER B B B BT TP YU Aq1eF e 82

1. Time —out (TO) from positive reinforcement / HRIHD m Kl CIgH-3I3c (2‘131‘1)
2. Time —out (TO) in the classroom / & T CZH-HTIC (_Cpf‘-"h)

3. Corporal punishment / IR S

4. Detention / FRIY

Correct Answer :-

« Time —out (TO) from positive reinforcement / YHRIHD Wﬂf Y TFH-3M13C (STl

29) sometimes, children are dissimilar to both the parents. This is because of the Law of ./ -t 9=, Arar-far S S et Bl
ftw_ FRmuderudail

1. Segregation / GYdhUT
2. Variation / fafaerar
3. Dominance / Y
4, Regression / PGilUeE|

Correct Answer :-

« Variation / fafaerar

30) In Sternberg’s theory of intelligence, which of the following steps involve finding a solution to the problem? / W%m %ﬁi@aﬁ,

Frafafee & 5w mRor & guvwn &1 YT 3 S ik 82
1. Application / HWT @Wﬂm
2. Mapping / afafesr (frﬁﬁr)

3. Encoding /b @W’%TD
4. Response /uﬁm(hw“r«q)

Correct Answer :-

« Response /m (WTR‘D

Topic:- General English(L1GE)

1) Fill in the blanks with the correct option in the given sentence:

| grew up in a spot-- house, but apparently cleanli-- isn’t an inherited trait.
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1. -- ting ... --ship
2. --ted ... -ing
3. --able ... --hood

4. --less ... --ness

Correct Answer :-

o --less ... --ness

2) Fill in the blanks with appropriate determiners to complete the given sentence:

What did youbuy? _ !Icouldnotfind I wanted.
1. Anything, none

2. Nothing, anything

3. Any, nothing

4. Something, something

Correct Answer :-

+ Nothing, anything

3) Fill in the blank with the correct option in the given sentence:

A person whose thyroid gland secretes deficiently is suffering from -- thyroid condition.

1. hyper
2. hypo
3. sub

4. mal

Correct Answer :-

« hypo

4) Choose an appropriate modal for the given sentence:

The baby fell off the cot. You _______ have been watching the baby.
1. can

2. might

3. would

4. should

Correct Answer :-

« should

5) Choose the most suitable pronoun for the given sentence:

-~

I am going to the theatre with my friends. Would you like to join

1. me

6) Choose the appropriate tense to fill in the blank in the given sentence:

They in that house for seven years.
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1. was living
2. have been living
3. has been living

4. has lived

Correct Answer :-

» have been living

7) Choose the appropriate tense to fill in the blank in the given sentence:
We cannot organize the show if it :

1. will rains

2. rains

3. rained

4. had rained

Correct Answer :-

« rains

8) Choose the appropriate conjunction for the given sentence.
Thebuswasdelayed _the traffic.

1. resulting

2. due to

3. because

4. before

Correct Answer :-

* dueto

9) Choose the appropriate antonym for the highlighted word in the given sentence.

The resilience of certain plants allows them to thrive in the desert.
1. grow

2. perish

3. flourish

4. blossom

Correct Answer :-

« perish

10) Choose the appropriate option that rewrites the given sentence in its passive voice.
Had he seen you at the party?

1. Was he seen by you at the party?

2. Were you being seen by him at the party?

3. Were you seen by him at the party?

4. Was you seen by him at the party?

Correct Answer :-

« Were you seen by him at the party?

11) Choose the appropriate synonym for the highlighted word in the given sentence.
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Changes in modern lifestyle means that for many families, it is no longer eating together, but shopping that bonds them as a family, at least at the

weekends.
1. separates
2. enslaves
3. links

4. wires

Correct Answer :-

* links

12) Choose the appropriate prepositions for the given sentence:

pregnancy, extra supplements are needed the growth the fetus.

1. In..for..in
2. At ...for ...around
3. During ... for ... of

4. For ... to ...in

Correct Answer :-

« During ... for ... of

13) Choose the option that best explains the highlighted expression:

The misappropriation of certain funds by our manager had come to light.

1. to be caught by the police
2. to be remanded
3. to become known to people

4. to be detained under custody

Correct Answer :-

« to become known to people

14) Choose the option that substitutes the given phrase appropriately.

A part of a continuing story on television is a/an
1. serial

2. segment

3. episode

4. soap

Correct Answer :-

« episode

15) Choose appropriate article for the given sentence:
children like pastries of all flavors.

LA

2. An

3. No article

4. The

Correct Answer :-

« No article

16) Choose appropriate articles for the given sentence:

For ages, one of ___ longest cultivated plant foods, beans have been

part of most cuisines.
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l.the..a

2. the ... the

3. a...no article required
4. no article required ... a
Correct Answer :-

* the..a

17) Which of the following options best combines the given sentences?

He is rich. He is not happy.

1. In spite of being poor, he is happy.

2. Though he is rich, he is not unhappy.
3. Although he is not poor, he is happy.

4. He is not rich, but is not unhappy.

Correct Answer :-

« In spite of being poor, he is happy.

18) Read the sentence carefully and choose the option that has an error in it:

Antibiotics works when they are administered early.
1. when they are

2. administered early.

3. Antibiotics

4. works

Correct Answer :-

« works

19) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are
selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

According to the author, we usually concentrate on:
1. Much needed things

2. Daydreaming

3. Random things

4. What we are expected to pay attention to

Correct Answer :-

« Much needed things

20) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are
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selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

Inthep ge attending ?

1. Waiting

2. Attending classes
3. Paying attention
4. Observing
Correct Answer :-

« Paying attention

21) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are
selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

The title for this passage is:

1. How Hunger Distracts Attention

2. The Relationship between Perception and Attention
3. Perception

4. Daydreaming

Correct Answer :-

« The Relationship between Perception and Attention

22) Read the following passage and answer the question given below:

Perception is strongly influenced by attention. Unfortunately, if you daydream during a lecture, little or nothing will reach your brain. Attending is
not always easy, so so you take notes and make conscious efforts to remain alert. Did you notice an error in the previous sentence? You probably
were concentrating on the content and although your eyes saw the word so repeated twice, you ignored it. Similarly, you were probably not focusing
any attention on your thumb until you read this sentence. You simply cannot attend to every stimulus around you, so only certain things are
selected. Have you ever driven your car on a highway with the needle pointing to a near empty tank? Chances are you become preoccupied with the
location of gas stations. Another day when your tank was full but your stomach empty, the gas stations might have been overlooked, but every diner
and restaurant would have caught your eye. Attention is usually focused on needed things.

Which statement expresses the main idea of the paragraph?

1. Unfortunately, when students daydream during lectures, nothing will enter their brains.

2. Perception is strongly influenced by attention, which is usually focused on needed things.
3. You’ll not notice any error if you are concentrating on the content.

4. If you are hungry, you’ll focus on eating.

Correct Answer :-

« Perception is strongly influenced by attention, which is usually focused on needed things.

23) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not
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knowing how to spell “dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your Aot dogs!” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

The main idea of the passage is expressedinthe ___ .
1. first line

2. last line

3. nowhere

4, in the middle of the passage

Correct Answer :-

« first line

24) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not
knowing how to spell “dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your Aot dogs!” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

The term Aot dogs was first used by .

1. baseball fans
2. Harry Stevens
3. the cartoonist
4, the vendor

Correct Answer :-

« the cartoonist

25) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not
knowing how to spell “"dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your Aot dogst” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

Choose the option nearest in meaning to word vendor.

1. Seller

2. Buyer

3. Purchaser

4. Manufacturer
Correct Answer :-

« Seller

26) Read the following passage and answer the question given below:

A long sausage in a bun received the name “hot dog” in 1906 as the result of a cartoonist’s poor spelling ability. A sausage vendor, Harry Stevens,
sold what he called “dachshund sausages”, (named after the short-legged dog) at New York City baseball games. During one of those games,
newspaper cartoonist Tad Dorgan was in the audience. He sketched a cartoon of a live dachshund, smeared with mustard and folded into a bun. Not
knowing how to spell “dachshund”, however, he settled on “dog”, giving the cartoon the caption “Get your Aot dogst” Once the cartoon was
published in newspapers, readers began demanding their own “hot dogs”.

What is the tone of the passage?
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1. Sarcastic
2. Detached
3. Light hearted
4. Nostalgic

Correct Answer :-

« Light hearted

27) Choose the right tag:

You are a basket ball player, ?
1. do you

2. are you

3. aren't you

4. were you

Correct Answer :-

« aren't you

28) Choose the right tag:

‘We wanted to go to the museum early,  ?
1. didn't we

2. weren’t we

3. should we

4. isn’tit

Correct Answer :-

« didn't we

29) Choose the correct option to indicate the indirect speech of the sentence:

The teacher said to the students, ‘Please wait here till I return.’
1. The teacher said to the students to wait there till she returned.

2. The teacher requested the students to wait there till she returned.
3. The teacher requested the students to wait there till she will return.

4. The teacher said that the students should wait there till she returned.

Correct Answer :-

« The teacher requested the students to wait there till she returned.

30) Fillin the blank with the correct option to complete the sentence.
His command

1. has promptly obeyed

2. was promptly obeyed

3. promptly obeyed

4. is promptly obey

Correct Answer :-

« was promptly obeyed

Topic:- General Sanskrit(L2GS)
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1) CANCELLED

faaierH 31eg quifaatersiA -
AT+,

| THHSTHIHT+IT+T+3T+F
| SHTHSTHT I

faST+oT+e1e
4,

Correct Answer :-

| TSI+ 3T+ 3T

2)

IR UfScar 92 Q;I’sﬁdgcd:{ g -

TYT A | I 9 3fd AFed fdeId | 3TET: TeaR: ulen: dfed | gd
U add | U o oo T fdqad | T UPcAT IRROUT I GIAT Are |
FEAT: ged: gAY fassfd | gcug aurer: gfaar o &R &y | urd: @t
T gdl GlgsTdhlell fad: | INT: I 0T UTH cdl GIatolel gedel E.;?%'I
aIfeRT | Uord gcd: Tded Uafd 9dTd Ud: I GIfder adrel: | IMaigelledecy

H:W:gazw:ﬁaﬁl

e Wicdr gRarfel gonfal, [uarh, wadsT=, 6 T @efed | dn:
AYL & faRfed T | g1 &l Fdw g2 s1afd | &fEd sasged afer
i | AU AAdelld IAd | dtdel dAdelldel gd FFeAd | el
add gfg: | e afd, deh, Adelld, gd, T HSIONH 30Tl TEdfa
Aled | dfl ASEd 3ugsded | dif @ siee @ & eafd |
IMFAA, A, gd, afe, &R, T IoaereafAfd yeara# |

Hﬁﬂgﬁs{:aﬁﬁ?
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et

4. ©

Correct Answer :-

HAad

<

3)

TR=dc afocar UeAEy %I)&Qégcdi T -

TYT 3 | I g 3fd AAeR fdeFd | 3T Icar: gren: Aed | &g
Y add | Th o o T facad | 5T YHcAT IHROT T URAT ey |
FEAT: Iou: gAM fassfd | Ucdg e gfaar 9 &R aIfey | u1da: 9
T Gdl dMclgeAehlell #ad: | INT: I 0T U Ycal GI&T0 g&clel ngi'r

QIfdYy | UAH dcd: Tdod TUafd ULErd 9 90 SIS anurel: | aGigelletedd
: acd: Yel: g7 et |

ame: shcar gRarfa qonfa, uarh, sufedsn=, g6 9 @efed |
A & fARied T | O &R FdW U2 s7dfd | &IRET 3AA>dard, afer
Hafd | AT Adelld Iedd | dtdel Adelldel gd TFIead | gde
add qig: | &fe afer, deh, AAdeld, gd, T FSAONH IUGFdl aEdf=
Aled | A #ISed 39geded | Al faa siieled @A o eafd |
ML, e, gd, aid), &y, T Tsuereafdid qeards |

dacd dAdad & Saafa ?

Correct Answer :-

s

4)
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IRTEE UfScaT TAET EHR I -
Joadel 9T #Ald: o Sfafd | 3ed  FIhET URAAC FhIcear
PROMGCUCT | FYh: el & aeard afse &ifd | @
AIGSCATG hoelel IO ollehd ERHA 3cUiedid | §: JuEdrd
THIAIAT Hod V0T T Egahrd aifd |

AAAT: PH: 3ol g | TF T TGRS T Haafad | 3es
A: Hehepe, €aled, U] Jellael T Irerdfd | Ueld Fehpe: Asg P Fh
T PRI | IRAT: T 3¢ol aReT: WA | ge]: TEH depeeag
gIel Galfd | Jeligel &1 gl YT dTT Werd T Fed: | VT F: Hgaeled
e Sloclel 31T dreraid |

h¥eh: Ulede] TG haelldqU, =ReheldaTd, YaTdal gFWIﬁT T geafd |
el HISTdd Heellhel T GaF  3IUIsdd | ATRehelhel Sdd,
Aeherciel AR T 30gedd | Qe Al 3UGsAd | AT JoUIior
¢auey EIoT Hieedader AR T 9Rd | Td ven: FEHRIOT el

3T SFere] IuRAT |

quﬁg%aaﬁhﬁ?

4, ™ ¢

Correct Answer :-

Foqg e

5)
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TR=dc afdcar UeaEd %;@dgcdi AT -

TYT 3 | I 9 A AHed f9ed | 3T TeaR: uEn dfed | gd
S add | Th o Yoo T fdeFd | ST YpcAT MARUT T URAT e |

(e
3EAT: Icq: AN fassfd | cgg aurer: gfaar a1 & aify | uid: 9
T gl clgAshlell 87ad: | INT: dTAT AT U Yol SfETold gedel el

Ay | 9UH gcd: Tded Tafd gedard u: 917 GIfeYr aNurel: | Gigellelod
O gl Y g7 i |

e Wiedr gRaTfr gonfal, o, somdenta, g6 9 wefed |
AYY &R fARfed T | 917 &M adur g7 e7afd | &fRET =g afer

fafd | SfIAUAT HAdeld W¥d | dCdel Adeilds] gd §FIedd | gd

f N

aegIa gig: | &R, g, ek, FAdelld, gd, o FHASATONH SUYFATA TE]]
dfed | difad s 5qgcqo-d\ | aifer faer sfied T o safa |
MAG, M, e, e, &N, T IoereaiAfd gearde |

IM: wid 9ier: dled ?
L IS
2, U>d
T
4, ERE

Correct Answer :-

Correct Answer :-
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7)

eollenl afScar STNfATESeT ey eaccl A -
IR Siatd shafed sga: @  shafd |

RIS foh o e T>TaT TIEIGIUT ||

alelel Jedl fATeRied AT stetred aAeaisied Ry gidear |

3870t Lol T AlId FedITded AR Aledd ||

gferear# varesn: RY: Afed |

2. B
tr%a?ig?zr:
3.
AT
4. =

Correct Answer :-

?ﬁﬁﬂ?ISQI:

8)
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IRTSE UfScdl U gHR I -
doodel Tdell #ALTE: o Safd | 3o  FIhET URHAC FAICeear
PRUMGUCAT | Fuh: 3efaer &F aead afsd s&fa | &
ATAITSCAG hoele] IO Wllehd ERHA 3cUiedid | §: JuEdrd
THEIAIT FodlNoT T TR i |

AAIT: PYP: 3ol I | dF T TEARYS: T fAaafad | 3ea
A: Hehpe, €aled, g Jellael T qredfd | Ueld Fehpe: Asg HUTd Fh
T PRI | IRAY: T 3¢ol TRe: W | ge]: TEH depeead I
g7t el | gefigel &1 gof F¥d: T AERT I HE: | Td F: Fgrdd
T8 Slocel 31T dTerdid |

heh: Uledel HE HGAldGy, ATheldard, Jarga qeqTior geafa |
heelyd Hslrl# Heellthel T A 3UFedd | ARhelhel &am,
Aheldel R = 5qg\rud\ | aTthel dlFeel _wgcua | ATl geaTfor
dauery Eun Hieedader AR o oRid | Td ve: FEHRI0T Fale
3T S 3URUTA |

TATd & SIPRITT ?

Correct Answer :-
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10)

eellent afscar renfAfisera Teaed e FAA -

T I 3TITAT el Iel YTYEAT §eie |
AT ekl STeTed o T dTeratce ||
3TET GOl EEIITe] ATEI: IS I |
qThT SATEETe HeI IS ||

Tl 3Tl SIgATT sl |

11)

gollehl UfScar steNfafesesT UeaTey %;I’&ngcdi A -

TG 3TIaTeAT GIeT gef TRL[AT & |
AT Gk STeTcd o TRIE T aTFaTc ||
311 GoleT e aalic] HITE e IS Te |

AN AN N\ N\ O AN
qreieh] AlgHalel HEIIHATSIA ||

UY: HIAdBId |
G S

Correct Answer :-
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| U

12)
IR IfScdT T A FIId -
dooiel o #eAT: & Shafd | 3feel J FIRET IRHA FIgScHar
PRUMGCUCAd | Fuch: 3efaer &F award ofsd swafa | @
HTAIGSCAET hoele] JIIMURTY Sl 3MERHA 3cUicdid | §: duEdia
UhIATAT TodNoT T TFRRT dUTd |

HAIA: $Yh: 3col gdfd | dF & '\LT:raTl'a‘rg‘é‘r: g aafa | 3ea
T: Fehopc, al, O Jellael T el | Teld Phpe: Asq P FIh
T SENAfd | ARAT: T 3ol URe: Wi | O TaE depear o
q7e el | gefidel &1 gol ¥d: ¢ WERT I Hec: | Td F: Heade
g Sloclel 31T arerafd |

Fh: Ulcdel TE HeeluiGy, =ATRehelgsTd, YoTgar gouror o gdafd |
el HISTTH  heellthel T A 3Ugedd | ATlehelthel CdTd,
AReTcrel A T 3ugsgd | Phel el 39gedd | AT JeaTfor
Sayey Eion Hleedaders Afet T urid | Td e FEHRUT el

3T ST 3T |

&: STAle] IR ?

hEHNIR:

4

Correct Answer :-

hYch:

[

13)
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URTde Ufocar UTEd %Jlagagcdi A -

Tyr A | A O] 3fd AAE fdedd | 3T IR Uik died | gd
S Idd | Th o JTE T fIeTA | 5T GhcAT IRROT I UTAT Fredl |
HEAT: Io: FAT TAssfd | Uede ddre: Gfaar 91 &R GIeY | uTd: A
T gdl IMclgAehlell 87ad: | INT: dTAT ST U el SIETUT gecel gIer

aIffyr | TUH gcd: Tded Tafd gRard ud: 917 GIfeer anurer: | AGlgeleied
O gc: ol g7 faafa |

ane: Wicar g Joits, fQuars, Sdassii, g& T @eled | dT:
AYL & facfed o | oA &l @dw g2 sedfd | &fed siasaand afer
I | GfIHEAld Adelld IId | dtdsl Adelldsl gd TFIead | gde
agd 9fe: | &RIg afd, T, Ad=ld, gd, T HJSA0TH IUIFANA TEAf
Aled | difel e 3ugeded | difel fdar siioled @A o sdid |
M, LA, e, &, &R, T Tseerediafd yeande |

&ioT efr &y stafa ?

Correct Answer :-

14)
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eellent afScar STNfATEseea Teaed gl I -

TG ST el Tel T[T &l |
aTT el SIeTcH o TG aTFeTcl ||
376T GoleT I HTAgTiol: IS I |
UTeeh! eligHale HeaR TS ||

GOITHTIIN, 3T TAM: |

IR
1.

Correct Answer :-

dcUdy;

o)

* eolient ufScar srefAfeveey e qgHce Fadd -

TG 3TTIaTaAT CIel gef TRL[AT & |
I ekl STeTcd & TRIgTcl aTeFaTcs ||
3761 GOl EHaITe] HITg Tl TS Ue |

qTah! FAEHaIT HEINITAST ||

£~

GoATHEINN T e7dfd |

Correct Answer :-
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16) .
gellent Ufdcar renfAfésesy Ueaed A el A -
ITEHA Sl Siidfod dgd: @ o Shafd |
hTehIsTd foh 7 et el TAIEIqIUT ||
alelel ot fAfERTET Aol eiteted Aleasfed RY: gfarears |
387907 Mo T Al FedVded YA Aledd ||
MU’ UG TARIUGTAGH |

| Faui

2. ~

3. \‘ ~
[CENE)

4, R ~

Correct Answer :-
[CENLIE:R

Correct Answer :-

 JHeddeT

Y S scaer Resaeaaiaied seH -

_ foetam: oo aEa aq

| foetar: S aerd
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fotetar: o= 1 aq
3.
4 feTaT: SToTT: IREA

Correct Answer :-

 ToAeTdT: ST TEAT -

gellent afScar STNfAfseea Teaed Ye#ccl A -

19)

TGt 3TIeTeAT GIel ged TRLEAT &I |
aTeT G STeTcH o TRIG I aTereTcl# ||
3TET GoTeTEEIITel ATTEI: IS e |

AN AN N\ N AN
QIR elleHdle] HGIRIHATSI ||

‘qrp’ GSET 31T foIgar: |

20)
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TTde Ifocar UeaEd QA&QJEI)ch; T -

Tor At | A O 3 AAE fdedd | 3T 9caR: e dfed | ogd
IS TAd | Th oS TS T fIgTd | 5T UHcAT IHRUT T ULAT FreaT |
HEAT: Io: GAM fassfd | Ucdg aMure: gfaar 9 &R Qe | uida: 9
T gdl dGIesehrell S d: | INY: JHeT 0T UTH gcdl GIaioleT gedel g?%i

S | UUH gcd: Tded TUafd IRdard Ud: 917 GIfeY INurel: | algeleled
: acd: Yel: g7 fueafd |

g ficar gRdife qonfa, uars, sdeden, g6 @ @efed | dn
A & facqied o | O &R adsT ved sidfd | &IRET 3d=dad, afer
aafd | S Adelld I | dtdel Adelldel gd TF9edd | gd
add gfg: | it afedr, deh, @Adeld, gd, I FJSAONH IUIFdla TEf=
led | Af fieeg 3ugsded | dife {9 sieel @Ag & safd |

ME, M, T, &fe, &N, T oAt geards |

a?'\rrzga—arsi‘f?a?

I
1.

21)
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9ol Ufdcar srafafeseey ueaTey %Jhgdgcdi A -

A Shafd shiafed sga: @  siiafd |
hTehIsTY foh &7 et el TAIGIYIUTH ||

aletel ol TATRRTE ofledl ditetred sAl-als e Ry gidears |

faeqeoT <fierdd T Alead FodIVded YA Aledd ||

R’ gee favgueidies |

[GER

1.

shredT

2.

2 3eflecay g ﬁ%ﬁgaﬁ: fgaey: 379G ?
IGEIRET:

~

1

| fades
3. :
faAfg:

Correct Answer :-

4.

23)
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eellenl Ufdcar renfAfEsery geaied UG FaIad -

afeas shafa shafed aga: @ g shafd |
el T3 o gt TeaT TGO ||

alelel dedl fAfERed AT setred aAearsted Ry gideam |

f3e1woT effereal T Add FedINded Taaied Aledd ||

Hﬁﬁ@?&:m:ﬂml

24)
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IRTBE Tfocar U GHR JIad -
doaded TdaT #Ad: & Shafd | 3eed  FIRET IRHA FIIeHar
Ofvl{UII%c‘-lC\ﬂd\ | HYh: 3 &3 gward i wfa 1w
TAYGSCATCIS] hoele JTIIURY Wlleh™ 3ERHA 3cuedid | §: duedia
THETTAT HedNUT T TFHRT HAUTA |

HAT: HYh: 3¢ FAfd | dF @ @AY §g Haafd | 3o
T: Hehhc, aled, U] Jeflacl T I | velid Papdhe: e P Fh
T PRI | TRAT: T 3¢o aRe: WA | O]: TEH dpeeag
goef aaifd | aefiael &1 gof ¥d: ¢ eI ° Hocl: | Td &: Hesde
g Slodlel 31T arerafd |

FYh: Ulede] g HEelugy, =AReheidard, IIgel Jouror I qeaid |
heellad  HitaArds] dheelthel T A 3UPsdd | wATlRhelhel &dT,
AReherdel R T 39gsdd | EIohel dRsel 39gedd | A= guTioT
Saueiy vl Hieedadame! A T a”id | Ud $ueh: TR Hefle]
3T Sl 3UHATT |

el QT ARIT: T Shata ?

Correct Answer :-

| 3fediel

25)

P ITHHIHTHTHTHIHH 3T S

JoT AT H & -
) AT

Correct Answer :-
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sgechAl
4. ©

Correct Answer :-

YIS
4. S

Correct Answer :-

28)

TEHASThET T oh: ?

29)
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9ellohl Ufocar srenfafdseea yeaed %;qagcdi A -

IRAA St Siafed 69 T J Siafd |
ThIST foh of et Tl TG ||

eletel ol fATRRIE =l dteired sAl-alsfed Ry gidears |

faeqeoT <fierdd T Alead TedIVded YA Al-dd ||

£~

ehieh: 31T Fdled AT |

30)
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URTSE UfScar Yo AgHc YA -
Joodel faom #eAq: & Shafd | 3=l J FIhET URHAT FIgSeHar
PRUMGTCAT | Fuh: 3laAd & gl aRs| w&afa 1@
HAIGSCARET hoele] JAIMURTY el 3MERHA 3cUGdid | §: JuEda
THIAATAT HodNOT T TahR aiicd |

AT FYh: 3col IAd | dF F: TGS Tg fAaafd | et
T Fehpc, ald, O] Jellgel T el | Telld Pppe: e P FIh
I PRI | TRAT: T 3¢l aRe: Wifd | O] T&H depedad o
g¢ Galfd | Sellal &1 el Y IFT WeRT I Fed: | TT §: Hgred
e Sloclel 31T arerafd |

Ph: Uleded HE PGelUlcU, ATRheIdard, YIrgal Iouror o geafd |
el SISTAds Heellhel T Gad  3UFsdd | ATRhelhel &ard,
ARehelcdel RIRE  30gsdd | QEIthel dR<el 3UYsAd | A=Al gouTioT
Saue EHI0T Hieedaderd AR T URd | Td ven: FEhRIOT Hale]

3T St 3URAT |

Fuh: HT FAA ?

Topic:- Sanskrit (SAN)

1) CANCELLED

2 [ [y . o~
G eAaTE-avar: fo Aanaqaia?
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Correct Answer :-

. Qilllll

EN

¥ arar, R e -
BRI
,, T |
, G&ATTH |
, T |

Correct Answer :-

-

| I |

) ~ . 0
MHefhIdhUg THdd-

1 C ]

2. T ' ‘ |
ATEiEERaH. |

3.

4, g R |

Correct Answer :-

AN N

 EERaH |

) o o= ~ .~ ~
HIAMGRIAY HlIdRGRIAlA <nld ?

8

Correct Answer :-

6

5)

TSI g |
1. I
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I |
2.
,
H{ |
4,

Correct Answer :-

¥ |

Correct Answer :-

o

Qs |

! R SR Ue T : ?
, A

2. m l

, |

AEUREN

Correct Answer :-

L=
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? g SRR 4 -

e S U & ?
<6 |

1.

e |

,
T |

4,

Correct Answer :-

d

" Gty oI (o fR 2
L 9 T T G: |

, e I 4 |

, e T FEHCE: |

. e ©I: ??FH:{: ]

Correct Answer :-

12)

‘qert: YR |7 Sl AR & ?
TS~

1. l
T

, B l
¢ T

3. |

, |
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Correct Answer :-

9 |

13) = AN o =~
AR Hid T THISE ?
20
1.
22
2.

18
3.
4. 15

Correct Answer :-

22

[ o o e N ap
, SAraladleAdiivmA:

Correct Answer :-

SRR CECC IR E-ALF

) Eqa S ToE: & ?

1. il
, |
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3. ‘l
. T

Correct Answer :-

haq |

17) o

faferas -gque-ngre: s Rgas yads: -

SIEEEIELE
1.
BEEECEIERE
3. T ¢ (g]-:
, digedrae:

Correct Answer :-

18) . SN o
‘S0] Ficdl Tl el I FET HAH?
1. ! ]
.
2. |
3 o |

aQ
, SIET |
Correct Answer :-

TR |

19)

TG el [ ?
1. 1 l

,, VT |

3 1'\ [

4. I[r\ |

Correct Answer :-

VR |
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20) ,

El'%’l:]'aa:’ ﬁmgm
1. |

o~

2. SRl |
3. |
4, g 2 |

Correct Answer :-

21) >

I Ag e qaaem: @:7?

Correct Answer :-

. ‘\

-

Ty Y GO A Y SR AR /AR S 98 g ?
, T

Z_GFETLl

3. T]-GIILI

e

Correct Answer :-

. TS |
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[aN

e |
4.
Correct Answer :-

. Qe |

-

24) = . o
foreToTeT qeAeed add -

ATAAINAH

1. 2

Z_HlddﬁﬂiﬂﬂuHi

| ST |
4_!123?“

Correct Answer :-

e |

ST AT TATH HEd AT TOrRThe T ol g -

AMETATS
1.

BEFICEIES

o Y

ERIPEIE]

3.
=~ il

4.

Correct Answer :-
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, B |
2. ‘ : |
(&N
3. > ]
N
, Sl |
Correct Answer :-

T

28) SN e

ST A Tere-T2TAT TRAT S el S H 2

| FgTeHTITe
EE-SIREINIR)
MEEEIGET

Correct Answer :-

. ququllll"J

29)

Correct Answer :-

. HTAT

* |rg T TR ?

| e H: (e Fie |
N Hivad aRa: Feget: |ied |

| FFeG T: FeT: et |
. HfeaY gRa: ﬁ?&fb’l: = |

Correct Answer :-
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vy aRa: Mgl 9w |

31)

foreATaT: FEATST add-

1 foreten:

. STT: |

Correct Answer :-

LSS
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, T

4.

Correct Answer :-

35)

TR SRS A O 1
| @ |

NEUESSELY

_ areEg |

, HGE |

Correct Answer :-

. FEEE |

36)

S FIET fosgaTl o ?
. is: 59 TE: |

, ISl 7 |

N a%: HY: 79 |

. i He: 39 |

Correct Answer :-

. A 7 |

37)

qTaTe HGade QT [ATdave e TART: T TH TLe07

HIEA HeTH ?

<
NGEN
1. >

Correct Answer :-

.-‘?\LT-I‘EE
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38

) gReRre STl o ?
, g |

et |

, S|

, SIS |

Correct Answer :-

N

i

39) ,

ST’ §AET Qread=sg: &t ?
ST+ S l

, ST+ =t |

, STST + S |
. AT + A |

Correct Answer :-

] ;M + A |

| TG - AL - TA: |

| G - AFHAGAG: - HHAG: |

=~ = o~
s Fidq: - HiHdG: - AYddq: |

=~ =~ ~
Fdg: - A9Aq;: - QHG: |
4.

Correct Answer :-

- ~ hnY
Tdq: - qsfdq: - 9Hdg: |

41) ,

qeuite:/ SIS THIE: &: ?
1. ﬁ: |

<

HHINI: |

2.
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42)

)

[enNE anN

D ~~

TTESHAAHIT

1

RN REE R

| ATCORTEHAG

2 -~

N

4.

Correct Answer :-

| AT

“TEhITT TS STl T eaeh bl [eTEaH ?

N~ . ~
D= IS TH:Id |

B [ 1= |

B foaea: T |

B foereT: T |

4.

Correct Answer :-

N~ ~
D= IS 7T+ d |

Correct Answer :-

R
;|
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o

45) - ; O\‘ . (\\?
CAAHAQYYGE: AlHied qdd

BEEIEMIEIRE
L CERINEIRE
3. T q:

9_ .
a & A
Correct Answer :-
(7}
< S &
46)

o o~ [aN < [aN
EIUSIS GIE ARSI ERS G ?
22

4. 20
Correct Answer :-

18

Correct Answer :-

| B

48)

TEIGH T el e ?
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Correct Answer :-

3_ma€rlmaaql
4_WWI

Correct Answer :-

_ ATdHTEH |

50)

[ W N

5 HINIESIEEY

hu

.
-

o o

Anlaenld:

Al

4.

Correct Answer :-

o [anN
AR

51)

Hiesh:' S THE9E o ?

Correct Answer :-

. o |

) 32 AgEaETe ST -
| RTE: |
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¢
SSECAREICEN
4,

Correct Answer :-

* el Efed ST IOM: | % O ?
. ﬂﬁt-ﬂ“ﬂ:—wz |

ST - SFETRET - Tt |

| I - fet: - T |

, T - NG - ISSTIATH |

Correct Answer :-

54)

THE AT Hiz‘l\&f TR he ?
| ;|

AT |

, g |

o

Q=i |

4.

Correct Answer :-

4_311'@l?|1:l\|

Correct Answer :-
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57) . -~ ~
3¢ THHETHIEAY, A SREr -

EERIERIREY
1.

TR |
2.

o

BRI |
3.

o <

ETGISGIReY
4,

Correct Answer :-

o \Cﬁ |

59

/ S

FglqrS:” Hed /hedl: Rl dAdh: ?
.~

. BYANAE |

,, TG |
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<

| HIGE: |
hay ﬂ [aN |
4.

Correct Answer :-

60)

4. 10

Correct Answer :-

10
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